
(1)VIII-SOCIAL-SCIENCE

General Instructions :
1. There are 31 questions in all.
2. Marks for each question are indicated against it.
3. All questions are compulsory.
4. Write the same question number as given in the question paper while answering a

question in your answer book.
5. (i) Answer to Multiple Choice Questions of 1 mark should be out of (a), (b), (c) or

(d) only.
(ii) Answer to questions of 3 marks should not exceed 60 words each.
(iii) Answer to questions of 5 marks should not exceed 120 words each.

6. Map should be attached inside the answer book.

lkekU; funsZ'k %
1- bl iz'u i=k esa dqy 31 iz'u gSaA
2- izR;sd iz'u ds vad mlds lkeus fn;s x, gSaA
3- lHkh iz'u vfuok;Z gSaA
4- viuh mÙkj iqfLrdk esa mÙkj fy[krs le; iz'u&i=k esa fn;k x;k iz'ukad gh fy[ksaA
5- (i) 1 vad ds cgq&oSdfYid iz'uksa dk mÙkj (a), (b), (c) vFkok (d) esa ls gh gksuk pkfg,A

(ii) 3 vadksa ds çR;sd iz'u dk mÙkj 60 'kCnksa ls vf/d ugha gksuk pkfg,A
(iii) 5 vadksa ds çR;sd iz'u dk mÙkj 120 'kCnksa ls vf/d ugha gksuk pkfg,A

6- ekufp=k dks viuh mÙkj&iqfLrdk ds Hkhrj layXu dhft,A

CLASS (d{kk) : VIII
SOCIAL SCIENCE

(lkekftd foKku)
(Summative Assessment - I)

Time : 3 Hrs. Maximum Marks : 90

fuèkkZfjr le; % 3 ?kaVs vfèkdre vad % 90

Roll No. (vuqØekad) ------------------------------ Code (dwV la-) % 820136-1&SA1(M)

Please check that this
question paper contains 31
questions and 9 printed
pages.
d`i;k tk¡p dj ysa fd bl iz'u&i=k
esa 31 iz'u rFkk 9 Nis gq, i`"B gSaA

1. Which one of the following countries has the highest percentage of

cultivated land?

(a) Australia (b) India

(c) Japan (d) China

fuEufyf[kr ns'kksa esa ls fdl ns'k esa Ñf"kxr Hkwfe dk izfr'kr lokZfèkd gS\

(a) vkLVªsfy;k (b) Hkkjr

(c) tkiku (d) phu
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2. What percentage of earth's total water is saline water?
(a) About 97% (b) About 92%
(c) About 96% (d) About 90%

èkjrh ds dqy ikuh dk fdrus izfr'kr [kkjk ikuh gS\

(a) yxHkx 97% (b) yxHkx 92%

(c) yxHkx 96% (d) yxHkx 90%

3. Name the type of forest found on Western Ghats.

(a) Coniferous Forest (b) Mediterranean Forest
(c) Tropical Deciduous Forest (d) Evergreen Forest

if'peh ?kkV ij ik, tkus okys ouksa ds izdkj dk uke fyf[k,A

(a) 'kadqèkkjh ou (b) Hkweè;lkxjh; ou

(c) m".kdfVcaèkh; ou (d) lnkcgkj ou

4. In which one of the following years was the 'Project Tiger' launched in
Corbett National Park?
(a) 1975 (b) 1974
(c) 1973 (d) 1970

fuEufyf[kr o"kks± esa ls fdl o"kZ us'kuy dkcsZV ikdZ esa ̂ izkstsDV VkbZxj* (ck?k ifj;kstuk) ykxw

fd;k x;k\

(a) 1975 (b) 1974

(c) 1973 (d) 1970

5. Who devised a unique strategy for India's freedom struggle in 19th century?
(a) Bal Gangadhar Tilak (b) Mahatma Gandhi
(c) Lala Lajpat Rai (d) Jawaharlal Nehru

mUuhloha 'krkCnh esa] Hkkjr ds Lora=krk la?k"kZ ds fy, ,d vuks[kh ;kstuk fdlus ykxw dh\

(a) cky xaxkèkj fryd (b) egkRek xk¡èkh

(c) ykyk yktir jk; (d) tokgjyky usg:

6. Who introduced the policy "The Doctrine of Lapse" of annexation in India?

(a) Lord Dalhousie (b) Lord Curzon
(c) Lord Cripps (d) Lord Mountbatten

^foy; dh uhfr* (The Doctrine of Lapse) dks Hkkjr esa fdlus ykxw fd;k\

(a) ykWMZ MygkST+kh (b) ykWMZ dT+kZu

(c) ykWMZ fØIl (d) ykWMZ ekmUVcsVu
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7. Who led the 'Revolt of 1857' in Gwalior?

(a) Nana Saheb (b) Rani Lakshmi Bai

(c) Tantia Tope (d) Begum Hazrat Mahal

Xokfy;j esa 1857 ds fonzksg dk usr̀Ro fdlus fd;k\

(a) ukuk lkgsc (b) jkuh y{eh ckbZ

(c) rkaR;k Vksis (d) csxe gT+kjr egy

8. Which one of the following conditions is not a part of secularism in India?

(a) Every individual can follow a religion of his choice.

(b) Every individual can practise the rights as he likes.

(c) The government has the right to pass laws based on religion.

(d) There is no state religion in India.

fuEufyf[kr esa ls dkSu lh 'krZ Hkkjr esa èkeZfujis{krk dk fgLlk ugha gS\

(a) izR;sd O;fDr viuh bPNkuqlkj èkeZ dk ikyu dj ldrk gSA

(b) izR;sd O;fDr viuh bPNkuqlkj vfèkdkjksa dk ikyu dj ldrk gSA

(c) ljdkj dks èkeZ ds vkèkkj ij dkuwu cukus dk vfèkdkj gSA

(d) Hkkjr esa jkT; dk dksbZ èkeZ&fo'ks"k ugha gSA

9. How many subjects does the Union List consist?

(a) 97 Subjects (b) 94 Subjects

(c) 90 Subjects (d) 96 Subjects

la?k lwph esa fdrus fo"k; lfEefyr gSa\

(a) 97 fo"k; (b) 94 fo"k;

(c) 90 fo"k; (d) 96 fo"k;

10. Who is the ex-officio Chairman of Rajya Sabha?

(a) The President of India (b) The Prime Minister of India

(c) The Vice President of India (d) Chief Justice of India

jkT; lHkk ds iwoZ dk;Zdkjh lHkkifr dkSu gS\

(a) Hkkjr ds jk"Vªifr (b) Hkkjr dk izèkkuea=kh

(c) Hkkjr ds mijk"Vªifr (d) loksZPp U;k;ky; dk eq[; U;k;kèkh'k
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11. What is meant by 'conservation'? Suggest any two methods to conserve

the resources.

laj{k.k ls D;k vfHkizk; gS\ lalkèkuksa ds laj{k.k dh dksbZ nks fofèk;¡k lq>kb,A

12. What are Multi-purpose River Valley Projects? State any four main objectives

of River Valley Projects.

cgqmís'kh; unh ?kkVh ifj;kstuk,¡ D;k gksrh gSa\ unh ?kkVh ifj;kstuk ds dksbZ pkj mís'; fyf[k,A

13. Why do the Tropical Deciduous Forests shed their leaves during the summer

season? Mention any two characteristics of these forests.

m".kdfVcaèkh; ou xzh"e ½rq eas viuh ifRr;k¡ D;ksa fxjkrs gSaA bu ouksa dh dksbZ nks fo'ks"krk,¡

fyf[k,A

14. "Wildlife is very essential to maintain the ecological balance on the earth's

surface". In the light of the above statement mention any three measures

taken to protect the wildlife.

¶èkjrh ij ikfjfLFkfrd larqyu cuk, j[kus ds fy, ouh; thou vR;ar vko';d gSA¸ mijksDr

dFku dks è;ku esa j[krs gq, ouh; thou laj{k.k ds fy, fdUgha rhu mik;ksa dk mYys[k dhft,A

OR (vFkok)

Mention any three characteristics of Coniferous Forests.

'kadqèkkjh ouksa dh fdUgha rhu fo'ks"krkvksa dk mYys[k dhft,A

15. "The nineteenth century saw a period of national pride and social reforms

in India". Justify the statement with any three suitable arguments.

¶mUuhloha 'krkcnh Hkkjr ds jk"Vªh; xoZ o lekt lqèkkj dk dky FkkA¸ bl dFku dh iqf"V

fdUgha rhu mi;qDr rdks± }kjk dhft,A

16. Name any two rulers who fought against the British army at Buxar. Mention

any two results of the Battle of Buxar.

vaxzsth lsuk ds fo#¼ yM+kbZ djus okys fdUgha nks 'kkldksa ds uke fyf[k,A cDlj ds ;q¼ ds

fdUgha nks ifj.kkeksa dk mYys[k dhft,A

17. Explain any three reasons responsible for de-industrialisation of India.

Hkkjr ds vkS|ksfxdj.k dh foeq[krk ds fy, mÙkjnk;h fdUgha rhu dkj.kksa dh O;k[;k dhft,A

1+2=3

1+2=3

1+2=3

3×1=3

3×1=3

3×1=3

1+2=3

3×1=3
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18. What were the three main military causes of the First War of Independence?

izFke Lora=krk laxzke ds rhu izeq[k lSU; dkj.k dkSu ls Fks\

OR (vFkok)

Describe any three steps taken by the British to suppress the Revolt of

1857.

vaxzstksa }kjk 1857 ds fonzksg dks nckus ds fy, mBk, x, fdUgha rhu dneksa dk o.kZu dhft,A

19. Mention any six freedoms guaranteed to the citizens of India under the

Fundamental Right to Freedom.

Hkkjrh; ukxfjdksa ds fy, fuèkkZfjr Lora=krk ds ekSfyd vfèkdkj ds vUrxZr vkus okyh N%

izdkj dh Lora=krkvksa dk mYys[k dhft,A

20. What is Preamble? How is it important to us?

lafoèkku dh izLrkouk D;k gS\ ;g gekjs fy, fdl izdkj ls egÙoiw.kZ gS\

21. Explain any three powers and functions of the Speaker of Lok Sabha.

yksdlHkk vè;{k dh fdUgha rhu 'kfDr;ksa o dk;ks± dh O;k[;k dhft,A

22. Describe the composition of Rajya Sabha.

jkT; lHkk ds xBu dk o.kZu dhft,A

OR (vFkok)

State any three qualifications required to become a member of Lok Sabha.

yksdlHkk dk lnL; cuus ds fy, dksbZ rhu vko';d ;ksX;rk,¡ fyf[k,A

23. What are the basis on which resources are classified? Explain any three

differences between biotic and abiotic resources.

lalkèkuksa dk oxhZdj.k fdu vkèkkjksa ij fd;k tkrk gS\ tSfod rFkk vtSfod lalkèkuksa ds eè;

varj ds fdUgha rhu fcanqvksa dks Li"V dhft,A

24. Describe five factors affecting the soil formation.

ènk fuekZ.k dks izHkkfor djus okys ik¡p dkjdksa dk o.kZu dhft,A

6×½=3

1+2=3
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5×1=5

3×1=3

2+3=5
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3×1=3
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OR (vFkok)

Why do we need to conserve soil? Suggest any three methods of soil

conservation.

gekjs fy, Hkwlaj{k.k D;ksa vko';d gS\ Hkwlaj{k.k dh dksbZ rhu fofèk;¡k lq>kb,A

25. Explain any three reasons that led to the Second Anglo-Maratha War

(1803-05). Mention any two consequences of the war.

f}rh; vaxzst ejkBk ;q¼ (1803&05) ds fdUgha rhu dkj.kksa dks Li"V dhft,A bl ;q¼ ds

fdUgha nks ifj.kkeksa dk mYys[k dhft,A

26. Name two Indian tribal groups and the places they belong to that lived by

herding and rearing of animals. Mention the impact of British policies on

the life of these tribes.

fdUgha nks Hkkjrh; vkfnoklh tu&tkfr;ksa ds uke rFkk muds LFkku fyf[k, tks i'kq ikyu rFkk

jsoM+ ls thou ;kiu djrs gSaA vaxzsth uhfr;ksa ds bu tkfr;ksa ds thou ij iM+us okys izHkkoksa dk

mYys[k dhft,A

OR (vFkok)

Who introduced the Permanent Settlement? List any four important features

of the Permanent Settlement.

LFkk;h cankscLr dks fdlus vkjEHk fd;k\ bldh fdUgha pkj izeq[k fo'ks"krkvksa dks lwphc¼

dhft,A

27. "The Revolt of 1857 proved to be the first great stuggle for freedom". Give

five arguments in support of the statement.

¶1857 dk fonzksg Lora=krk dk izFke egku la?k"kZ fl¼ gqvkA¸ bl dFku ds i{k esa i¡kp rdZ

nhft,A

28. Describe any five key features of the Indian Constitution.

Hkkjrh; lafoèkku dh fdUgha ik¡p izeq[k fo'ks"krkvksa dk o.kZu dhft,A

2+3=5

1+4=5

5×1=5

3+2=5

2+3=5

5×1=5
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29. What is meant by secularism? What was the purpose behind adding the

word 'secular' in the preamble?

èkeZfujis{krk ls D;k vfHkizk; gS\ lafoèkku dh izLrkouk esa ^èkeZ fujis{k* 'kCn tksM+us ds ihNs

D;k mís'; Fkk\

30. How many subjects are included in the State List? Mention any four

subjects. Who makes laws on the state subjects?

jkT; lwph esa fdrus fo"k;ksa dks lekfgr fd;k x;k gS\ fdUgha pkj fo"k;ksa dk mYys[k dhft,A

muds fy, dkuwu dkSu cukrk gS\

OR (vFkok)

Describe the composition of the Union Government of India.

Hkkjr dh la?k ljdkj ds xBu dk o.kZu dhft,A

31. (i) Two features (A) and (B) are shown in the physical map of the world.

Identify these features with the help of the following information and

write their correct names on the lines marked on the map.

(A) An area having low rainfall.

(B) A type of forests.

(ii) On the same outline map of the world, locate and label the following

items with appropriate symbols.

(C) One region of high rainfall in South America.

(D) One region of Coniferous forest in North America.

(i) lalkj ds fn, x, js[kk ekufp=k ij nks y{k.k (A) rFkk (B) n'kkZ, x, gSaA uhps nh xbZ

lwpuk ds vkèkkj ij mUgsa igpkfu, rFkk muds lgh uke nh xbZ js[kkvksa ij fyf[k,A

(A) de o"kkZ okyk {ks=k

(B) ouksa dk ,d izdkjA

(ii) fn, x, mlh ekufp=k ij fuEufyf[kr y{k.kksa dks mi;qDr fpUgksa }kjk vafdr dhft,

rFkk muds uke fyf[k,A

(C) nf{k.k vejhdk esa vfèkd o"kkZ okyk izns'kA

(D) mRrjh vejhdk esa 'kadqèkkjh ou okyk izns'kA

1+4=5
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4×1=4

Alternative Question for visually impaired students in lieu of Q. No. 31

iz-la- 31 ds LFkku ij ǹf"Vckfèkr fo|kfFkZ;ksa ds fy, oSdfYid iz'uA

31.1. Name the area of low rainfall in Africa.

31.2. Name the area of high rainfall in South America.

31.3. Which tree is commonly found in Tropical Deciduous forest?

31.4. Which tree is commonly found in Mediterranean Forest.

31.1. vçQhdk esa de o"kkZ okys {ks=k dk uke fyf[k,A

31.2. nf{k.k vejhdk ds vfèkd o"kkZ okys {ks=k dk uke fyf[k,A

31.3. m".k&dfVcaèkh; ouksa esa lkekU;rk dkSu lk ò{k ik;k tkrk gS\

31.4. Hkweè;lkxjh; ouksa esa lkekU;rk ik, tkus okyk ò{k dkSu lk gS\



(9)VIII-SOCIAL-SCIENCE

World Physical (lalkj)Roll No. (vuqØekad) ____________________

Map for Question No. 31 (ç-la- 31 ds fy, ekufp=k)


